
Zarabianie kabla Ethernet:

Połączenie proste: 
Pin1 - zielono-biały --> Pin1 - zielono-biały 
Pin2 - zielony --> Pin2 - zielony 
Pin3 - pomarań.-biały --> Pin3 - pomarań.-biały 
Pin4 - niebieski --> Pin4 - niebieski 
Pin5 - niebiesko-biały --> Pin5 - niebiesko biały 
Pin6 - pomarańczowy --> Pin6 - pomarańczowy 
Pin7 - brązowo-biały --> Pin7 - brązowo-biały 
Pin8 - brązowy --> Pin8 - brązowy 

Połączenie krzyżowe (odwrócone):
Pin1 - zielono-biały --> Pin1 - pomarań.-biały 
Pin2 - zielony --> Pin2 - pomarańczowy 
Pin3 - pomarań.-biały --> Pin3 - zielono-biały 
Pin4 - niebieski --> Pin4 - niebieski 
Pin5 - niebiesko-biały --> Pin5 - niebiesko biały 
Pin6 - pomarańczowy --> Pin6 - zielony 
Pin7 - brązowo-biały --> Pin7 - brązowo-biały 
Pin8 - brązowy --> Pin8 - brązowy 


